

NAME: AARON ABRAHAM DTEM
DEPARTMENT: COMPUTER ENGINEERING

COURSE: MAT 102

MATRIC NO: 19/Eng02/011

ASSIGNMENT 7

2) Find the point of intersection of the following line on the circle.

1) $x - y - 14 = 0$ and $x^2 + y^2 - 6x + 8y = 0$

\times Solution

$$x - y - 14 = 0$$

$$y = x - 14 \dots (i)$$

$$x^2 + y^2 - 6x + 8y = 0 \dots (ii)$$

Substitute $y = x - 14$ in eqn (ii)

$$x^2 + (x - 14)^2 - 6x + 8(x - 14) = 0$$

$$x^2 + x^2 - 28x + 196 - 6x + 8x - 112 = 0$$

$$2x^2 - 26x + 84 = 0$$

$$2x^2 - 12x - 14x + 84 = 0$$

$$2x(x - 6) - 14(x - 6) = 0$$

$$(2x - 14)(x - 6) = 0$$

$$2x = 14 \text{ or } x = 6$$

$$x = \frac{14}{2} \text{ or } x = 6$$

$$x = 7 \text{ or } x = 6$$

Substituting $x = 6$ in eqn (i)

$$y = x - 14$$

$$y = 6 - 14$$

$$y = -8$$

Therefore, one of the points of intersection is $(6, -8)$

Substituting $x = 7$ in eqn (i)

$$y = x - 14$$

$$y = 7 - 14$$

$$y = -7$$

Therefore another point of intersection is $(7, -7)$

$$2) 2x + y - 10 = 0 \text{ and } x^2 + y^2 + 4x - 6y = 0$$

$$2x + y - 10 = 0$$

$$y = 10 - 2x \dots (i)$$

$$x^2 + y^2 + 4x - 6y = 0$$

Substituting $y = 10 - 2x$ in eqn (ii)

$$x^2 + [(10 - 2x)(10 - 2x)] + 4x - 6(10 - 2x) = 0$$

$$x^2 + 4x^2 - 40x + 100 + 4x - 60 + 12x = 0$$

$$5x^2 - 24x + 40 = 0$$

$$x = 3.9$$

$$5x^2 - 20x - 4x + 40 = 0 \quad x = \cancel{1.5} \text{ or } x = \cancel{0.9}$$

$$5x(x - 4) - 4x \quad \text{Substitute } x = 3.9 \text{ in eqn (i)}$$

$$y = 10 - 2(3.9)$$

$$y = 10 - 7.8 \quad y = 10 - 3.0 \quad y = 10 - 7.8$$

$$y = \cancel{7.0} 2.2$$

Therefore one of the points of intersection is $(\cancel{1.5}, 7), (3.9, 2.2)$

Substituting $x = \cancel{0.9}$ in eqn (i)

$$y = 10 - 2(\cancel{0.9}) \quad 10 - 2(0.9)$$

$$y = 10 + 3 \quad 10 - 1.8$$

$$y = \cancel{13.2} 8.2$$

Therefore one of the points of intersection is $(\cancel{1.5}, 13), (0.9, 8.2)$

$$3) x - 5y - 2 = 0 \text{ and } x^2 + 25y^2 - 6xy - 16 = 0$$

$$x - 5y - 2 = 0$$

$$5y = x - 2$$

$$y = \frac{x-2}{5} \dots (i)$$

Substitute $y = \frac{x-2}{5}$

$$x^2 + 25y^2 - 6xy - 16 = 0 \dots (ii)$$

Substitute $y = \frac{x-2}{5}$ in eqn (ii)

$$x^2 + 25 \left[\frac{(x-2)}{5} \times \frac{(x-2)}{5} \right] - 6x \left(\frac{x-2}{5} \right) - 16 = 0$$

$$x^2 + 25 \left[\frac{x^2 - 4x + 4}{25} \right] - \frac{6x^2 - 12x}{5} - 16 = 0$$

$$x^2 + x^2 - 4x + 4 - \frac{6x^2 - 12x}{5} - 16 = 0$$

$$2x^2 - 4x - 12 - \frac{6x^2 - 12x}{5} = 0$$

$$\frac{10x^2 - 20x - 60 - 6x^2 + 12x}{5} = 0$$

$$\frac{4x^2 - 8x - 60}{5} = 0$$

$$\frac{x^2 - 2x - 15}{5} = 0$$

$$\frac{x^2}{5} - \frac{2x}{5} - \frac{15}{5} = 0$$

$$\frac{x^2}{5} - \frac{2x}{5} - 3 = 0$$

$$x = 5 \text{ or } x = -3$$

Substitute $x = 5$ in eqn (i)

$$y = \frac{5-2}{5}$$

$$y = \frac{3}{5}$$

Therefore one of the points of intersection is $(5, \frac{3}{5})$

Substitute $x = -3$ in eqn (i)

$$y = \frac{-3-2}{5}$$

$$y = \frac{-5}{5}$$

$$y = -1$$

Therefore another point of intersection is $(-3, -1)$